BALLT—TI oETkatksEE O28H[4B288(H)]

R~ b 1a—+ 23—+ 3a-+ 4a—t Ba—t 63—+ Ta—+ 8a-+ 92—+ 10a-+

9:30 JGA35 36 37 38 39 40 41 42 BA22 23
: 50 24 25 26 27 28 29 RGA1 2 3 4
10:10 5 6 7 8 9 RGB1 2 3 4 5
: 30 6 RBA1 2 RBB1 2 3 4 RBC1 2 MGA43
150 44 45 46 GB22 23 24 25 HGC2 3 4
11:10 5 MBCT 8 9 10 MBB17 18 19 20 HBA30
130 31 32 33 HRGA1L0 11 12 13 14 15 16
: 50 17 RBA3 4 5 6 7 8 9 10 MGAAT
12:10 48 & GB26 27 GC6 7 JBC11 12 #BB21 22 KBA34
130 35 RGA18 19 20 21 RGB7 8 9 10 *BA11
150 12 13 14 RBB5 6 7 8
13:10 || ”xGA49 | xGB28 | RXGC8 | MBC13 | BxBB23 | FXBA36
:30 RGA22 23 RGB11 12 HRGC1 2 RBC3 4 kBB9I 10

1 50 RBA15 16

14:10 || $%GA24 | RGB13 | RGC3 RBC5 | #&BB11 | RBA17

:30

: 50

15:10

:30

: 50

16:10

:30

: 50

17:10




